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Solution to Problem 2.2

Let t1 = Arrival time of the first student
t2 = Arrival time of the second student

Since the arrival process is Poisson, λτλτ −
− = ef tt )()12(  for τ≥ 0

(a) When X = c (fixed), then
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(b) When X is exponentially distributed with parameter µ, then

P{second student does not wait | X=x} = ∫
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E{waiting time for the second student | X=x} = xex λ

λλ
−+−

1
)

1
(

E{waiting time for the second student} = dxeex xx µλ µ
λλ

−
∞

−∫ 





 +−

0

1
)

1
(  =

)(

11

λµλ
µ

λµ +
+−

= 
)( µλµ

λ
+


